
11

5

8

Vehicle Back

28

23
20

16
20

2129

23

21

26

18

7
6

31

Motor / Gearbox Assembly

74180-9993
(74183-9564 in Canada)

Wild Thing®

Advanced Series
Super 6 Volt

Wild Wacky Fun Goes Full Circle!

Age Range: 3-7 Yrs.
Weight Limit: 65 Lbs.
Surfaces: Hard
Speed: 4 MPH
Colors: Purple Body
Intro: 8-24-98 U.S.

Jan-99 Canada
Suggested Retail: $129.99 U.S.
Box Dimensions: 35” x 17.75” x 28.5”
In-Box Weight: 35 Lbs.
U.S. Warranty: 90 Days Vehicle

6 Months Battery

2

TM

IMPORTANT
A 25 AMP FUSE MUST

BE INSTALLED IN TOP
OF BATTERY BEFORE

TOY WILL RECHARGE
OR OPERATE

®

1

4

27

15

25

23

20
10

15

25

1212

25

22
14

19 24

17
13

30
2224

17

19
14

Battery Belt

Battery Belt

Sea
t B

el
t Seat Belt

3

99

Working / Electrical Parts
1 Battery 6 volt 9 amp 0801-0712 1
2 Charger 00801-0974 1
3 Thermal Fuse 0801-0610 1
4 Footboard Assm. 74180-9389 1
5 3B Motorgearbox Assm. 74180-9519 2
6 3B Gearbox 74550-9279 1
7 Motor w/Pinion 74580-9539 1
8 Wiring Harness 74180-9799 1
9 Control Switch 0801-0614 2

Plastic / Other Parts 
10 Seat 74180-2309 1
11 Motor Cover 74750-2359 2
12 Left & Right Shifter Assemblies.74180-9169 1

(also must order 74180-0001 REPAIR KIT w/74180-9169)

13 Skid Plate 74180-2479 1
14 Driver 74460-2249 2
15 Seat & Battery Belt Sets (2 pcs. ea.)74210-5519 2
16 Rear Pivot Wheel 74180-2469 1
17 Wheel 74180-2459 2

Hardware / Metal Parts
18 Body (N/A) 74180-2109 1
19 Hex Bushing 73233-2559 2
20 Front Wheel Bushing 74770-2539 3
21 5/16” Washer 0801-0253 2
22 7/16” Washer 0801-0196 2
23 .354 Cap Nut 0801-0604 4
24 .437 Cap Nut 0801-0226 4
25 #8 - 18 x 1” Screw (Black) 0801-0224 12
26 #12 x 1.5” Screw N/A order hardware bag

27 Wire Harness Holder 74550-2299 4
28 Bracket 74180-4429 1
29 Rear Pivot Axle 74180-4519 1
30 Main Axle 74180-4509 1
31 Motor Bolts 0801-0269 2

Parts Not Shown
Main Decal Sheet 74180-0310 1
Large Parts Bag 74180-9249 1
Small (Hardware) Bag 74180-9259A 1
Inner Bag w/Fuse 74180-9259 1
Literature Bag 74180-9019 1
Owner’s Manual 74180-0920 1
PW Emblem 74460-9069 1

Rev. 07/09/03

N/A = Not Available

Bold and Underlined parts are to be purchased and installed by Service Centers only. These 
items may not be sold directly to consumers by Service Centers or Fisher-Price.

This product is affected by the PW recall announced Oct 1998. Please 
confirm that the product is modified or remediated in accordance with policy.

danny
Highlight

danny
Highlight

danny
Highlight

danny
Cross-Out

danny
Cross-Out




